T M XTEHESE
(B) S 244818
(B)SF34E3A31H
EANG HEREIEEAN NMNERFEELIGES 15
(BB M)
il B ¥ H R E = B % =
IR SET- TN 1,531,000] 1,636,000 A 105,000|EA-#8)-Fik
AR E TN 210000]  655177] A 436,177]—#mw
g BREREHEMEIA 46,866,000 45,954,920 911,080 |4 (A - BEE) - it
- ZEEEUIA 62,643,000] 62,270,892 372,108|# - 2BEHE-HEL- Tt
i3 EFEEIA 100,000 0 100,000
%) EXIVON 6,343,000  7,033,634] A 690,634 |7mn rH. ammnET NS
Wi [ —=ZIRA 900,000  999.379] A 99379|HMBDEEL
X ZRFERSEIRA 8,000 20,358 A 12358|&EHES THHESE
ZDHDIRA 960,000 930,020 29,980 |REBALENE
SEFEIUNAGO) 119,570,000{ 119,500,380 69,620
X\ ABEIH 97,013,000] 86,192,171| 10,820,829|m & /<—rHES
sz 13,646,000 11,443,741 2,202,259 | R - EHEE - BEHRES
EBREXH 17,637,000] 12,819,222 4,817,778 |iRB- £BERE-RE - HEHE
EEHEEXH 100,000 0 100,000
ﬁj\jﬁﬁiﬂj 8,000 41000 41000 Egﬁ%ﬂ%ﬁﬁiﬁﬁ%ﬁﬁ@ﬁznﬂﬁl:&b}
B & H 140,000 80,000 60,000 |1E#EF KB R & 44
B84 H 10,000 10,000 o| =ittt EEE£EES
EXTFHIHEN2) 128,554,000 110,549,134| 18,004,866
EEFBHELIEEZE(G=1-2) A 8,984,000] 8,951,246/ A 17,935,246
Bl [EREHEEMEIRA 0 130,000f A 130,000[3FS&BES SHEAR)
= A BB EEBZIRAA) 0 130,000 A 130,000
| 5 [EERERG X H 3,066,000/ 3,063,100 2,900|3E —H- 8- TV 5-Pc%
5 | g [EDHD IR B (<& DX ol  210000] A 210000mAEEHS
f;( MeES 2w X HETH(5) 3,066,000 3,273,100 A 207,100
% |FEEREBEEE IR ZEEE(6=4-5) A 3,066,000 A 3,143,100 77,100
o | IR |30 E R ERURA 0 552,690 A 552,690|mE:EmS
5 A [ZothoEEIRAHD) 0 552,690] A 552,690
| X | EEX M 699,000  3,121,797| A 2,422,797 |BRi#ef & Fi4 SIRAY
5|2 [z othaEEZ HE®) 699,000  3,121,797] A 2,422,797
2 |FDMDFEEE S INT EEE(9=7-8) A 699,000 A 2569,107] 1,870,107
FiEEXH0) 100,000 0 100,000
LEE RN EEE S 51(11=3+6+9-10) A 12,849,000]  3,239,039| A 16,088,039
AR EEEE2) 20,077,919 20,077,919 0
LHRFTIEEKE01+12) 7,228,919 23,316,958/ A 16,088,039

KBEREIY—ERARNOB LT TRASFEAGHOEENZHFEEICTHTIGVEFLHD,




EEFEEBEEE
(B)sHM2454A18
(B)RFI3E3A31A
EAA HEFELLEAN MNMERFNHEESEARES 9HE
(B6:M)
7 B AEERE |AIFEERE| & H& i B
vARET-{)E 1,636,000] 1,654,000 A 18,000|@A 8- Bk
é P e 655,177| 1,083,327| A 428,150|—#&% ¢
2 BEZEHME NG 45,954,920| 44,596,202 1,358,718|# (A -B£E) - Ritth
T ZEEE IR 62,270,892 53,542,896| 8,727,996 |- AEHR -HER Hith
E) EXINE 7,033,634 6,674,861 358,773 |FImK Bk BREREFHNE
15 NS —F RN 999,379|  1,050,422| A 51,043|60BDES L
B F DD IR 50,020 5,004 45,016 |HFRBREE A RIRA
,0% H—E REENUREEET() 118,600,022| 108,606,712 9,993,310
"B AHLE 86,980,221| 84,010,327 2,969,894 [B8 -/ \—FAS
Mlags 11,495,703] 11,654,116 A 158,413| 4R EHE-REMHES
EBE 12,819,222] 14,590,822 A 1,771,600|E £HEE - RE L%
SEEER 4,000 8,000 A 4,000 |FiHBEERRSESI0FHRIZEYHE
R & & 80,000 80,000 OB AL EABI R S 4tF
8iEELEH 10,000 10,000 o|Eut sttt EELtES
BRI ERNE 2,218,194 1,738,258 479,936 |FEM - hATAT U EIRIEZ 204
EEMhEERANEIIS NGRS A 666,883 A 644559 A 22 324 |- EEEMmERS
Y—EREEEREH2) 112,940,457| 111,446,964 1,493,493
H—ER BB EZE(3=1-2) 5,659,565 A 2,840,252 8,499,817
P ELTEEEETE: 20,358 20,335 23| e EHmS EMHES
5 | 2% |EDHDY—E R FBIS U 880,000 462,100 417,900 |R&MEA£1185
z Y—EREENIREEET4) 900,358 482,435 417,923
| B 2oty —ERESNER 0 0 0
2| A [y—ERESNEBAG) 0 0 0
B —E RiEENSME = ZE(6=4-5) 900,358 482,435 417,923
REEIRHEER (7=3+6) 6,559,923| A 2.357,817] 8,917,740
¥ | MR B REEEEE UG 130,000 85.888 44.112|#AELBES & GEXHE)
fﬂ é Z DD RN o 184800 A 184,800
;7; AR AR ET(8) 130,000 270,688 A 140,688
D EE & ETEE - 0o 1E 1 3 A2
I & EEHB S E B SN EAEE 0 0 0
A |EE & SR R S TR 48 130,000 85,888 44,112 | A AHEBES S EHESH
ZF DD E RIS X 0 58,520 A 58,520
BRI EREH9) 130,001 144,411 A 14,410
43 Il 1 ek 2= BB (10=8-9) A1 126,277 A 126,278
LHE BN ERE (11=7+10) 6,559,922| A 2,231,540 8,791,462
"g AR R BNIE A8 (12) 20,358,558| 22,610,199 A 2,251,641
= | HEREBEENIERAZE (13=11+12) 26,918,480| 20,378,659 6,539,821
;ig HEALENEEE(14) 0 0 0
o [EEENEREE (15) 0 0 0
= | ZDMDIEIL S ERAREE (16) 0 0 0
f};ﬁ ZDDIELSFEILEE(17) 2,469,057 20,101 2,448,956 |EEFIE -HO~FHEIWAS
B | iR E B 48 (18=13+14+15+16-17) | 24,449,423| 20,358,558 4,090,865




T M XTEHESE
(B) S 244818
(B)SF34E3A31H
EANGHREUEN NERFT SR GES 3HE
il B ¥ H R E = B w =
IR | =B IRA 1,531,000 1,636,000 A 105,000
NETTEI N 129,000 625177] A 496.177|— %=t
RERE@EIESIRA 30,219,000] 29,307,720 911,280|# (BEAHE-E£H) - Hitlh
ZEEIRA 17,100,000 16,424,494 675,506 -BES - Fitth
% EEIRA 1,816,000 1,919,044 A 103,044|3E—#% 5 A, BHTFHH
2 NF—FZIA 900,000 999,379 A 99.379[H0HDIE. Bk F—F £
E S ERISSINA 4,000 20,170 A 16,170|%@ES - E@EAELFE
g Z DD IXA 480,000 550,000 A 70,000|REEAGERA
- EETFHIRAGA) 52,179,000] 51,481,984 697,016
& X | AHERH 51,348,000[ 44,520,001 6,827,999 |HE8%A 5 (5)
Jﬁ M Ezawm 4,003,000 2,817,178 1,185,822 |- EmE - HiERE
x| |BBEXH 10,704,000 8965762  1,738,238[Enmikst xBZ5k- 2%
SIS H 8,000 4,000 4,000 |t a8 EH2 2 EBSI0TBICLURE
B E X 140,000 80,000 60,000 |1E#EF BB & 4%
BiEETH 10,000 10,000 o|mitpaEL e ELEES
EXFERHE2) 66,213,000] 56,396,941 9,816,059
EETHELINZEE(3=1-2) A 14,034,000] A 4914957 A 9,119,043
B IR SRR R B S URA 0 130,000] A 130,000[%AE£BES S (EX#)
2 A SR EBZIRAGA) 0 130,000 A 130,000
| 5 |EERERGXH 2,733,000/ 2,730,750 2,250 —# - HEAH-/ V3
5 | [E DD R (= £ B 0 70,0000 A 70,000
ff’q Jite 5% B {5 % 32 HH E1(5) 2,733,000 2,800,750 A 67,750
% |MEEREBHEEE I E%E(6=4-5) A 2,733,000] A 2,670,750 A 62,250
5 g (L& ERRIRA 0 0 0
o | A |BERSERASILA 4,573,000] 12,152,888| A 7,579,888 |ME&EE BELVRARIRA
5 Z DD FEIURAFT(T) 4573000 12,152,888| A 7,579,888
| X IS EXH 554,000 2,956,657 A 2,402,657 BH#55 4 FIE-FHRUIA
2| Y [ 2thaEER HEHSE) 554,000  2.956,657| A 2402657
2 ZDD;EEE I =E8(9=7-8) 4,019,000 9,196,231| A 5,177,231
F g X H(10) 100,000 0 100,000
LHIES IV EEEEET(11=3+6+9-10) | A 12,848,000 1,610,524| A 14458 524
AR INEETZRE(12) 7,002,595 7,002,595 0
LHERZILEEERSU1+12) A 5,845,405 8,613,119 A 14,458,524




BEEXEETBHEHESE
(B) S 244818
(B)SF34E3A31H
EANG HERIEEAN NMNERFAEELIGES =
R4 thigfEa E e (B -
ii:F)
il B AEFRE | AIEERE| B R ik &
H I (& B INE 1,636,000] 1,654,000 A 18,000
é P 625,177] 1,083,327| A 458,150|— &zt
2 BREZEHEME NG 29,307,720| 29,609,402| A 301,682| A& -Ex#E
T &N 16,424,494 10,364,325  6,060,169| LB fm#E £ i
)] EE g 1,919,044| 1,910,866 8,178|ac—m=r My - EHF L
B | —E=RRE 999.379]  1,050422| A 51,043[s0#0ER L
L Z DD UNEE 0 5,004 A 5,004
D |y REBUNEEE) 50011,814] 45677,346] 5234468
e E AN 45514601| 43611617  1,902984|mBEsz )
Hlszs 2817.178|  3.431.913] 4 614,735|2mt-#ras
EBE 8,965.762| 10,832,753| A 1,866,991|ik%& - HEnE- REMEKE
SIEEER 4,000 8,000 A\ 4,000 |mittamaEmEasiEeanBic LR
B EE R 80,000 80,000 0|t B R &4 5
BEEER 10,000 10,000 O|mtipimEiEi i Emaaine
BRE & 1,772,823 1,383,731 389,002|Em@- M At-ATUREITH
EE#MEERNIEL SR A 666,883 A 644,559 A 22,324|=m- s 2am s wiEmEES
H—EXRFEERE(2) 58,497,481 58713455| A 215974
. H—EREENIEFHAEZ(3=1-2) A 7,585,667 A 13,036,109 5,450,442
T | 2 ) S AR R 20,170 20,180 A 10|xEEe eHEL
z B [z iy —E ZEBI IS 550,000 462,100 87,900(xEEARIESE
o H—ERFEE N IRIEET(4) 570,170 482,280 87,890
2 | s [y—EREBINEREHG) 0 0 0
s |H—E X BB SR ZEEE(6=4-5) 570,170 482,280 87,890
EEIBRZERE (7=3+6) A 7015497| A 12553829] 5,538,332
S R EEHHSINE 130,000 85,888 44112|£FAREBES 2 (GEAHE)
fe! Iy | FERDREBEAZIRE 12,152.888]  10520936]  1.631952]mmEmegrsma
o o (Z DM ORI 0 0 0
o | R EHE) 12,282,888] 10,606,824] 1,676,064
£ Bl EEFRIE - D18 1 3 A 2|RBIEAK
& EE@EEE S AEIL S INEREE 0 0 0
m [EE R & E RIS S TS 28 130,000 85,888 44,112|#AHEBES S
ZRD ISR 0 0 0
I & FHEH9) 130,001 85,891 44,110
I8 R = %5(10=8-9) 12,152,887| 10,520,933 1,631,954
L HAE BN E%E (11=7+10) 5,137,390| A 2,032,896 7,170,286
‘f; BTARE LT BB 48 (12) 6,647,913  8,700,910[ A 2,052,997
% SR E ISR ELE (13=11+12) 11,785,303] 6,668,014 5,117,289
7 (EATEREREE (14) 0 0 0
ig | B S HNAREE (15) 0 0 0
B | Z 0¥ 5T £ B E%E (16) 0 0 0
g ZTOMDIBILETEILZEAT) 2,469,057 20,101 2,448,956
o | [ERMEHISH 2,469,057 20101] 2448956 e MBS A - FHEMAS
8 | RERAERL R BN IE 2 &E (18=13+14+15+16-17) 9,316,246 6,647,913 2,668,333




E&® M &

(B) S 244818
(B)SF34E3A31H
EANG HEREIEEAN NMNERFAESELIGES 5HE
BRRER4 TN EREMNEE .y
(Bifsz: M)
il B ¥ H R E = B w =
i W\ SHEEZIRA 100,000 0 100,000
z | [ ZRAARLSSIA 1,000 4 996|718
%511 EETFHIRAGO) 101,000 4 100,996
T X | EBEEXH 2,000 0 2,000
A AFET A 100,000 0 100,000
”é EXTFHIHEN2) 102,000 0 102,000
EETHELINZEE(3=1-2) A 1,000 4] A 1,004
CBIRA R EEEINA @) 0 0 0
o8 3| e 35 B AR % 2 HHEH(S) 0 0 0
% |EREREEESINZ EE(6=4-5) 0 0 0
%i’ BA |2 DD EENRAEHT) 0 0 0
20 X | Z DD EENZ HETS) 0 0 0
u | ZDMDEENE UV EEE(9=7-8) 0 0 0
FiEEXH10) 0 0 0
LEEEINZ EEE S E1(11=3+6+9-10) A 1,000 4] A 1,004
AR IV EEES(12) 577,382 577,382 0
UHXRFTILERESU1+12) 576,382 577,386] A 1,004




BEXEBEHEE
(B)§F2%4818
(B)SF34E3A31H
EANE HEBILEAN DMERFHESEL TG ES 6H
RRESA: T HHVWEEEMNSE (B M)
# B AEERA|GEERE ¥ R m =

B et |+ — 1 R SEBNIR S EH(1) 0 0 0

me || — 2 EENE FAEH2) 0 0 0

#E [ —F R EENIE R ZEEE(3=1-2) 0 0 0

HHEIEE SRR € 4 4 NEE

25 | 2 [ —F 2 E BRI @) 1 1 0
zlamly—ExEEN B AG) 0 0 0

Y —E R EENS) B R = 28 (6=4-5) 4 4 0
BEHELE (7=3+6) 4 4 0

o | | R IR 25 5H(8) 0 0 0

u |2 4RI B FEHO) 0 0 0
| 2 |FERIEEE 5E(10=8-9) 0 0 0

LR EENIE R ZEE (11=7+10) 4 4 0

E AT EAfE T B 4E (12) 577,382| 577,378 4

= | HEARGHEENIERAEEE (13=11+12) 577,386 577,382 4

;ig EASINEEEE(14) 0 0 0

w |EEHEAEE (15) 0 0 0

£ [ZDith D15 3T 5 R AR EE (16) 0 0 0

Azt BEITSHEIEE(17) 0 0 0

| RHRARE R NG 258 (18=13+14+15+16-17) 577,386 577,382 4




T M XTEHESE
(B) S 244818
(B)SF34E3A31H
%A%:#i%#ﬁijtiﬁ)& INERFHEEELGES 1H
il B ¥ R RE = B i &
ZHEEIA 455430000  45:846,398] A 303,398[ N5 s et s
% I | ERURA 1,749,000  2,066,081| A 317,081 |EMRMIRA-F=Ra—rFIMAH
g A |SRFERYESIRA 1,000 98 902|715
(= EEFEBIRAE) 47,293,000]  47,912,577] A 619,577
& AEXH 29,283,000[ 25,938,398 3,344,602 |®A /S—FHAS
5| X |BEEXH 7,937,000 7,011,515 925,485 M@ KABE EHRRAES
e T 5,167,000 2,868,356 2,298,644|/ /AU HA-U—AK - HEBE
X EXTFHIHEN2) 42,387,000 35,818,269 6,568,731
EETHELINZ EE(3=1-2) 4,906,000)  12,094,308] A 7,188,308
* Bl | i 2% B i IR A 5H(4) 0 0 0
il X |BEEEERSZH 333,000 332,350 650
LYY £ i) 333,000 332,350 650
| MEEX B EE & SIS E B (6=4-5) A 333,000 A 332,350 A 650
= TIBA | Z D fh D FBURAEH(T) 0 0 0
L EERDHERAEXH 4,573,000 11,267,470] A 6,694,470 | hiiEHEBHEEEA
2 AR EEAE X 0 0 0
B | ZOMDFEBZHEHS) 4,573,000  11,267,470| A 6,694,470
Szt EEESINT ELE(9=7-8) | A 4573.000] A 11,267,470 6,694,470
FiEEXH(10) 0 0 0
L ESINK ERESET(11=3+6+9-10) 0 494488| A 494488
AR ZIVEEEE12) 9,098,908 9,098,908 0
ZHXRXINVELES(11+12) 9,098,908 9,593,396 A 494,488




BEXEBEHEE
(B) S 244818
(B)SF34E3A31H
%A%:#i%#ﬁijtzéx INERFHEEELGES 8H
BREN4 BREHEE (B4 - )
il B AEFERE | AIEERAE | 1B R =
g ZEEE NG 45,846,398 43178571 2,667,827 50sck e T
[ 25 [ERIRE 2,066,081 1,821,694 244 387|7=2a—rHImH
E H—ERFEIUEEET() 47912,479] 45,000,265 2,912,214
;é A& 25938,398| 24,475,692  1,462,706|%MY %%
| BEE 7,011,515 6,982,757 28,758 | Bt KA BE - EBRRE
# | g | EBE 2,868,356 3,438,689 A 570,333|)—R¥-HEEE
i BRE RN & 406,491 315,647 90,844 |FImIHE -/ U2 H10f
g) HY—ERFEHE A2 36,224,760]  35212,785| 1,011,975
AP | —E REENIE R EEE(3=1-2) 11,687,719 9,787,480| 1,900,239
IS IS R E R 98 95 EE
| B [ —E 2 EBsRISE @) 98 95 3
B Y-z EBNERHEG) 0 0 0
2 | H—E RIEENSME B ZEZE(6=4-5) 98 95 3
REIERZERE (7=3+6) 11,687,817 9,787,575 1,900,242
T [iras | 4 B IR 2 5(8) 0 0 0
fg B & ESAE- 05iE 0 0 0
W BREEXSBBAETER 11,267,470] 10,520,936 746,534 | B ILE R HE S EA
1) R & FHET9) 11,267,470] 10,520,936 746,534
&R | 45 7l 18 ek 2= %8(10=8-9) A 11,267,470| A 10,520,936 A 746,534
LHREENE R ERE (11=7+10) 420,347] A 733,361 1,153,708
E BIEAAREL R BN R &E (12) 9,853,786| 10,587,147 A 733,361
= | HEARGHE ISR AEEE (13=11+12) 10,274,133 9,853,786 420,347
;ig EAREHERZE(14) 0 0 0
w |EEERAAZE(15) 0 0 0
= [ZDithD 15 37 5 R AR EE (16) 0 0 0
Bzt OB LSBT (17) 0 0 0
B | RERRHE B R 58 (18=13+14+15+16-17) 10,274,133 9,853,786 420,347




T M XTEHESE
(B)$F24F4818
(B)FF34E3IA31H
EANA HERILEAN MNERFHHEELGES 9H
RRREDA:BbU-TIFTEE (B M)
®l B ¥ H R E = B % =
FHERUIRA 90,000 30,000 60,000

% BREREHHEIA 16,647,000( 16,647,200 A 200[EEBAMEIES
g‘; IR |EZEIRA 0 0 0|R1E10A kY1
- | A |ZERFEERYSIRA 1,000 40 960|718
X Z DD URA 480,000 380,020 99,980|7F%. REBAGES
% EXFHIRAGA) 17,218,000] 17,057,260 160,740
N T 14,461,000 14,538,000 A 77,000[f58&s% HamES
X|% |[mzEsd 1126000 1048358  77.642|BEHH- RENE RBERAS

H|E=rExd 14860000  831.280] 654,720 B@ms - BEHS

EXTFHIHEN2) 17,073,000| 16,417,638 655,362

EETHELINZ EE(3=1-2) 145,000 639,622| A 494622

* | MRS IR A (4) 0 0 0

X (20D EREEICLDSIZEN 0 140,000/ A 140,000|BEEEHS

H | S HEHG) 0 140,000] A 140,000

MR EEEESINT E%0(6=4-5) 0| A 140,000 140,000
o | g EILEERARRA 0]  552690] A 552,690[EHiEzmL:
o | 2 [ERMDEENCEHIIA 0 0 0
217 |20t EBIRAED) o  552,690] A 552,690
%;J % BMEEXH 145,000 165,140] A 20,140|BHi# 55142
& | i |BEEEDEBRAE M 0] 285418 A 285418
2|20 thaiEBX HIEHE) 145000 450,558] A 305558
% |ZDMDFEENE S U ERE(9=7-8) A 145,000 102,132] A 247,132
FiEEXH(10) 0 0 0
LEEEINZ EEE S 51(11=3+6+9-10) 0 601,754| A 601,754
AR ZILVEEES(12) A 277,396 A 277,396 0
LHRZILEEERSU1+12) A 277,396 324,358| A 601,754




BEEXETEBHES
(B)SF244818
(E)SM343A31H
EANG HREEA DERFNESELGES 10E
il B AEFERHE |AIEERHE | B B ]
FTEINE 30,000 0 30,000
T Iz BEZEHEME NG 16,647,200]  14,986,800]  1,660,400|{5 8838 A B+ FXEE
E |5 [EERE 0|  1,639,000| A 1,639,000|R14 108 £YEEIL
A Z DD UNEE 50,020 0 50,020
e H—ERFEIUEEET(1) 16,727,220 16,625,800 101,420
EJ) A& 14,331,450 15,202,244 A 870,794|i5883% wHES
?E'Eii - AEE S 1,048,358 987,808 60,550 |REHH RiptiL KBERAS
o | [ EBE 831,280 135,706] 695 574|5Emmes Hamns
B Y—EREBEREF2) 16,211,088| 16,325,758) A 114,670
EXTFHIRZELEB=1-2) 516,132 300,042 216,090
MBI e R 40 20 20|78
£ | B [zpihny—E REBSNES 330,000 o 330000|%EEARES
5 H—ERFEESMUREEEH(4) 330,040 20 330,020
A E (20t —EREBNER 0 0 0
i | B[y —p 238 & msG) 0 0 0
8 |H—E REENSME B ZEFE(6=4-5) 330,040 20 330,020
REEIBBELE (7=3+6) 846,172 300,062 546,110
b s | 45 RN EREH(S) 0 0 0
8 g EXXDEEASER 285,418 0] 285418
A 45512 FAEH9) 285,418 ol 285418
o | IR 2= %8(10=8-9) A 285418 0| A 285418
LH R BN ESE (11=7+10) 560,754 300,062 260,692
E HIEA AR BB A EE (12) A 835,396] A 1,135,458 300,062
= | HEAREBEENIERMAELE (13=11+12) A 274642 A 835396 560,754
g EAREENERZE(14) 0 0 0
w | EEEREEEE(15) 0 0 0
= [ZDth DRI 5 HRAHEE (16) 0 0 0
2 |z 0thoTSETEE(17) 0 0 0
o | KBRS E B R 4E (18=13+14-15+16-17) | A 274642 A 835,396 560,754

10




T M XTEHESE
(B) S 244818
(B)SF34E3A31H
EANG HERIEEAN NMNERFEELGES 11H
WERXN4 B1FEEE (45 )
il B ¥ H R E = R w =
EEIWA 2,778,000 3,048,509 A 270,509|FIFRZA
s EIISEME RV ON 1,000 46 954|118
EETFHIRAGO) 2,779,000 3,048,555 A 269,555
AEEZH 1,921,000 1,195,772 725228 |MEHET Y - N-HEESH
X |EXEXH 580,000 566,690 13,310 ##Ea%
MR A 278,000] 153,824 124,176 5 EB%
EXTFHIHEN2) 2,779,000 1,916,286 862,714
EETHELINZEE(3=1-2) 0] 1,132,269| A 1,132,269
i [ MR B (AR A EH(4) 0 0 0
| | MEEREE(EE 3 L EH(5) 0 0 0
*F R B R E S S INK E5E(6=4-5) 0 0 0
%o [BA | Z D D EEIULA FH(T) 0 0 0
2 | [BER D ERA R H 0| 600,000 A 600,000
o TR D EENIZ HETH(8) 0 600,000 A 600,000
: | Z DD EBE S I ZEEE(9=7-8) 0| A 600,000 600,000
FiEEXH10) 0 0 0
LEEEINZ EEE S E1(11=3+6+9-10) 0 532,269| A 532,269
AR IV EEES(12) 3,676,430 3,676,430 0
LHRFTIEEKE01+12) 3,676,430] 4,208,699 A 532269
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BEEXEETBHEHESE
(B) S 244818
(B)SF34E3A31H
EANG HERIEEAN NMNERFEELGES 128
il B AEFERF| MEERE| B R w =
T 3,048,509]  1,303,301|  1,745,208|FIFkR AL
B [y — 2 EBREE ) 3,048,509 1,303,301 1,745,208
AN 1,195,772 720,774 474.998|BEHF L - N-IMEES
Rlzzs 618,652 251,638 367,014 a%
ERE 153,824 183,674] A 29850 H&EH%
BRE & 38,880 38,880 0|PA-IFPE 24
H—ERFEERE(2) 2,007,128 1,194,966 812,162
H—EREENIEFHAEE(3=1-2) 1,041,381 108,335 933,046
%R | ZE R S AR M IR g 46 36 10[m&
me| B | EEes AW 46 36 10
sl |H—EREBNEREG) 0 0 0
8| U —E X EE S} 18 8 =58 (6=4-5) 46 36 10
IR EEE (7=3+6) 1,041,427 108,371 933,056
IR |2 Db RIS 0 184,800 A 184,800|3rmE
i B [#RIR255ts) of 184800 A 184,800
i B EERSEEAEER 600,000 0 600,000
¥ g [zothotksiEx ol 58520] A 58500[armEmEES
# Frpl & FETH9) 600,000 58,520 541,480
43 Il 18 ek 2= %8(10=8-9) A 600,000 126,280 A 726,280
LH R BN ESE (11=7+10) 441,427 234651 206,776
"f& HIER AR ENIE B A EE (12) 4,114,873 3,880,222 234,651
= [HEARBHEUEENIRBHELE (13=11+12) 4,556,300] 4,114,873 441,427
g EAREENERZE(14) 0 0 0
w | EAEREAEE (15) 0 0 0
= [ZDth DT 5 HRAHEE (16) 0 0 0
2 |z 0thnT SETEE(17) 0 0 0
a3 | RERIRHGE BN E4E (18=13+14-15+16-17) | 4,556,300| 4,114,873 441,427
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